
Subject: ArrayCtrl as a node of TreeCtrl
Posted by Novo on Mon, 11 Feb 2008 03:25:29 GMT
View Forum Message <> Reply to Message

I'm trying to put an ArrayCtrl as a node of TreeCtrl.
Everything seems to be fine except of the positioning of the ArrayCtrl.

By default the ArrayCtrl will overlap with other nodes. If I set node's margin the ArrayCtrl will be
shifted right and down. Shifting down seems to be a right thing, but shifting right doesn't look right.

Any suggestions how to fix that or how to do similar task in a different way?

TIA

File Attachments
1) test1.png, downloaded 779 times
2) test2.png, downloaded 701 times
3) TestControls.zip, downloaded 533 times
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